
Omvandlingstabell 

1 lättöl (33 cl) 2,2%            = motsvarar ca 2 cl starksprit *

1 folköl (50 cl) 3,5%           = motsvarar ca 4,5 cl starksprit *

1 starköl (33 cl) 5,5%         = motsvarar ca 4,5 cl starksprit *

1 starköl (50 cl) 5,2%         = motsvarar ca 6,5 cl starksprit *

1 starköl (50 cl) 7,2%         = motsvarar ca 9 cl starksprit *

1 glas vin (15 cl) 13%        = motsvarar ca 5 cl starksprit *

1 flaska vin (75 cl) 13%     = motsvarar ca 24 cl starksprit *

1 flaska sprit (70 cl) 40%   = motsvarar ca 40 cl starksprit *

*) Motsvarar 40% ren alkohol


